IFB 2016-296

ROAD MATERIALS: EMULSIFIED ASPHALT

							Western Emulsions		Ergon Asphalt & Emulsions, Inc.		Heartland Asphalt Materials, Inc.		Wright Asphalt Products Co		Texas Road Recycle	
Line	Description	UOM	QTY	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended	Unit	Extended			
1	CRS-2TR Delivered	gallon	2500000	NA		No Bid		No Bid		\$1.6074	\$4,018,500.00	No Bid				
	Attribute 3: Please state price for Collin County to pick up this product from your plant location			NA							\$ 1.40					
	Attribute 4: Plant Location			NA						Brow	Brownwood, TX 202 miles					
	Attribute 5: Approximate Distance from McKinney, TX 75071			NA						20						
	Attribute 6: Please state if there is a minimum number of gallons for delivery of this product. Yes or No			NA						Yes						
	Attribute 7: If there is a minimum number of gallons, please state amount.			NA							5378					
2	AE-P Delivered	gallon	12000	\$1.89	\$22,680.00	\$1.9479	\$23,374.80	\$2.41	\$28,920.00	No Bid		No Bid				
	Attribute 3: Please state price for Collin County to pick up this product from your plant location			\$1.74		:	 \$1.80	\$2.			1					
	Attribute 4: Plant Location			Ter	nple, TX	W	aco, TX	Sagii	naw, TX							
	Attribute 5: Approximate Distance from McKinney, TX 75071			17	2 miles	13	31 miles	60	miles							
	Attribute 6: Please state if there is a minimum number of gallons for delivery of this product. Yes or No				NA			based on 5400 gallon minimum total is \$59	No - Delivered prices are based on a full load of \$400 gallons. There is no minimum order, freight total is \$594.00 per load (5400 gallons x \$0.11)							

	Attribute 7: If there is a minimum number of gallons, please state amount.			Western Emulsions NA		Ergon Asphalt & Emulsions, Inc. We consider 5,500 gallons a full load of material. You may order any quantity of material, but would be charged freight on a full transport load		°,		Wright Asphalt Products Co LLC			ad Recyclers, LLC
3	CRS-2 Delivered	gallon	50000	\$1.17	\$58,500.00	\$1.1202	\$56,010.00	\$1.23	\$61,500.00	\$1.3574	\$67,870.00	No Bid	
	Attribute 3: Please state price for Collin County to pick up this product from your plant location			9	51.10	9	60.98	\$^	1.12	\$1.15			
	Attribute 4: Plant Location			Temple, TX 172 miles Temple, TX		Mount F	Pleasant, TX	Saginaw, TX		Brownwood, TX			
	Attribute 5: Approximate Distance from McKinney, TX 75071					10	2 miles	60 miles		202 miles			
	Attribute 6: Please state if there is a minimum number of gallons for delivery of this product. Yes or No						No	No - Delivered prices are based on a full load of 5400 gallons. There is no minimum order, freight total is \$594.00 per load (5400 gallons x \$0.11)			Yes		
	Attribute 7: If there is a minimum number of gallons, please state amount.					We consider 5,500 gallons a full load of material. You may order any quantity of material, but would be charged freight on a full transport load					5378		
4	CRS-2H Delivered	gallon	50000	\$1.17	\$58,500.00	\$1.1202	\$56,010.00	\$1.23	\$61,500.00	\$1.3574	\$67,870.00	No Bid	
	Attribute 3: Please state price for Collin County to pick up this product from your plant location				\$1.10 Temple, TX		\$0.98		1.12	\$1.15			
	Attribute 4: Plant Location			Ten			Pleasant, TX	Saginaw, TX		Brownwood, TX			

	Attribute 5: Approximate Distance from			Western Emulsions		Emuls	Asphalt & sions, Inc. 2 miles	Heartland Asphalt Materials, Inc. 60 miles		Wright Asphalt Products Co LLC 202 miles			oad Recyclers, LLC
	Autobile 5. Approximate Distance from McKinney, TX 75071			NA NA 1		10	2 miles	60 miles		20	iz miles		
	Attribute 6: Please state if there is a minimum number of gallons for delivery of this product. Yes or No						No	based on 5400 gallon minimum o total is \$59	red prices are a full load of s. There is no order, freight 4.00 per load ons x \$0.11)		Yes		
	Attribute 7: If there is a minimum number of gallons, please state amount.					a full load o may order material, charged f	er 5,500 gallons of material. You any quantity of but would be reight on a full sport load	naterial. You ny quantity of ut would be ght on a full					
5	CSS-1H Delivered	gallon	5000	\$1.29	\$6,450.00	\$1.1202	\$5,601.00	\$1.33	\$6,650.00	\$1.4574	\$7,287.00	No Bid	
	Attribute 3: Please state price for Collin County to pick up this product from your plant location			5	\$1.20		5 0.98	\$1.22		\$1.25			
	Attribute 4: Plant Location			Ten	nple, TX	Mount F	Pleasant, TX	Saginaw, TX 60 miles		Brownwood, TX 202 miles			
	Attribute 5: Approximately Distance from McKinney, TX 75071			17	2 miles	10	2 miles						
	Attribute 6: Please state if there is a minimum number of gallons for delivery of this product. State yes/no.				e e e e e e e e e e e e e e e e e e e		No No - Delivered prices are based on a full load of 5400 gallons. There is no minimum order, freight total is \$594.00 per load (5400 gallons x \$0.11)		a full load of s. There is no order, freight 4.00 per load		Yes		
	Attribute 7: If there is a minimum number of gallons, please state amount.						We consider 5,500 gallons a full load of material. You may order any quantity of material, but would be charged freight on a full transport load		l C		5378		

6	Dust Control Oil, CSS-1S or Collin	gallon	50000	Westerr \$1.50	Emulsions \$75,000.00	Emuls	Asphalt & sions, Inc. \$58,510.00		nd Asphalt ials, Inc. \$74,500.00		halt Products Co LLC	Texas Ro	ad Recyclers, LLC
	County approved equal Delivered												
	Attribute 2: If there is a minimum number of gallons, please state that amount.			a r		We consider 5,500 gallons a full load of material. You may order any quantity of material, but would be charged freight on a full transport load					1		<u> </u>
	Attribute 3: Plant Location			Ter	Temple, TX		Mount Pleasant, TX Saginaw, TX						
	Attribute 4: Approximate Distance from McKinney, TX 75071			17			2 miles	60	miles				
	Attribute 5: Please state if there is a minimum number of gallons for delivery of this product. State yes/no.			NA		No		No - Delivered prices are based on a full load of 5400 gallons. There is no minimum order, freight total is \$594.00 per load (5400 gallons x \$0.11)					
7	Cold Central Plant Recycling of Asphalt Millings: Short Term Plant Site (14-75 days)	ton	5000	NA		No Bid		No Bid				\$25.99	\$129,950.00
	Attribute 1: Plant Location				NA				Ι			site at stockpile.	ill be set up on- County RAP Emulsion plant mple, TX
	Attribute 2: Approximate Distance from McKinney, TX 75071				NA							18	31 miles
8	Cold Central Plant Recycling of Asphalt Millings: Long Term Plant Site (75 - 365 days)	ton	15000	NA		No Bid		No Bid		No Bid		\$25.99	\$389,850.00
	Attribute 1: Plant Location				NA		1		1		1	site at stockpile.	ill be set up on- County RAP Emulsion plant mple, TX
	Attribute 2: Approximate Distance from McKinney, TX 75071				NA							18	31 miles

9	Cold Central Plant Recycling of Asphalt Millings: Immediate Plant Site (to be laid in not more than 24 hours)	ton	1000	Western NA	n Emulsions		Asphalt & sions, Inc.		nd Asphalt ials, Inc.	Wright Asp No Bid	hait Products Co LLC		ad Recyclers, LLC \$25,990.00
	Attribute 1: Plant Location				NA				1		l	site at 0 stockpile. Ten	II be set up on- County RAP Emulsion plant nple, TX
	Attribute 2: Approximate Distance from McKinney, TX 75071				NA							18	1 miles
10	Cold Central Plant Recycling of Asphalt Millings: Immediate Plant Site (including lay down and compaction)	ton	5000	NA		No Bid		No Bid		No Bid		\$84.99	\$424,950.00
	Attribute 1: Plant Location				NA		L		I		1	site at 0 stockpile.	II be set up on- County RAP Emulsion plant nple, TX
	Attribute 2: Approximate1.81 Distance from McKinney, TX 75071				NA							18	1 miles
11	Please state the cost for per hour demurrage charges beyond the three (3) hours included in the quoted delivery cost. Please reference Section 4.9.	hour	1			\$80.00		\$80.00		\$100.00		\$85.00	
	Supplier Notes:									requested by billed at cost. requested by billed an ar outgoing fre loads cannot Charge (customer) wil not provided Layover char customer) \$450/per	Loads cancelled in transit (if requested by customer) will be iilled at cost. Returned loads (if requested by customer) will be billed an additonal one-half outgoing freight rate. Diluted vads cannot be returned. Pump Charge (if requested by ustomer) will be \$100/per load- not provided for hot products. ayover charge (if requested by customer) will be billed at \$450/per truck per night.		
	TOTAL				\$22,680.00		\$176,131.00			\$	4,018,500.00		\$970,740.00